Math 10 F&P
Linear Relations Extra Practice
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1. Determine the equatioq of the line, in slope-intercept form that passes through (6, 5) and (-9, -5).
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AB is x—2y+4=0. AB intersects the y-axis at C. CD is perpendicular to AB. The
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3. Which of the following equations describes the linear relation graphed above?
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4. The graph below models a bicycle’s distance from a bike shop over time.
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Calculate the average speed of the bike over the first five hours. A\J - ao ¥ 5’
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5. Determine the slope of the graph 4x — 5y — 24 = 0. LS Y/"’/h . \
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7. If the slope of a ski hill is % and the coordinates of the bottom of the hill are (2, 5), what is the value of

y if the coordinates at the top of the hill are (8, ¥)?
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8. Identify the line segment w1th m <0, where m is slope. 2
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10. The slope of an A-frame cottage is 2 .




11. A line segment joins A(6, 2) and B(14, 12). What are the slope and y-intercept of the line perpendicular

to AB and passing through the point

(10, 7)?
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12. Lines A and B are p

endicular and have the same x-intercept. The equation of line A is
x + 2y — 6 =0. Determine the y-intercept of line B.
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13. A local drama production will make a profit of $200 if they sell 100 tickets. They will take a loss of
$120 if they only sell 60 tickets. Which linear relation represents their profit?
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14. Rewrite y

A §x+y-—5=0

C. 2x+3y—-15=0

D. 6x+3y-15=0
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Use the following graphs to answer question 15.
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15. Which of the following statements is true about the domain of the jraphs shown above? h
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A. The domain of fix) is greater. fo.loc Peooy \5 3
The domain of g(x) is greater.

C. JThe domain of both graphs is equal.| rws-

. The relationship cannot be determined from the information given.
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17. If f(x)=-2x+1, which of the following expressions is equal to f (x +1)?
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18. Determine the domain and range of the following graph:
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19. Which of the following represent(s) a function? There could be more than
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1 correct answer.
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20.  Consider the following expressions:
Leua#—aewm L | e)=r-ar2 ol £E3)7 (—g):-l ‘fﬁ)"z 9= 3(4)*6;3
TT J’ IL f(x)=lx+l4 . 30:1):"(’
3 13 N _\_(—3)*14 >33
Il f(x)=3x +x 2 fe-= L ;@
2 -_-%{—I"vl J 5(' 3)
. X)|=7/-—2X 2 =) 4 _3)-_.,. - —
v flx)=7-5x @3! £ A

Evaluate f{-3) and put the expressions in order from least to greatest.



21. Jo wants to hold a spring dance. It costs $500 to rent the schoo!’s gym and it will cost an additional $5

per person who attends. Which of the following statements are true?

/ \4“

HX + bgb'DO

Q The data representing this function is dlscrete c* %‘0 =7 ew\ab !r\we

Lo prson

IL The data representing this function is continuous. n‘o
( Y
< ML The rate of change represents the cost per person who attends. Lx . %
-

3/
prooe Y-

{V The equation representing total cost is the linear function C = 5n + 5
( ) 5 C is the total cost and n is the total number of people.
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22. Determine the domain and range of the relation graphed below.
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23. The graph represents how the volume of water, in m/, being drunk from a glass changes with time, in

seconds. What does the x-intercept represent in this situation?
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A. water capacity of the glass 4+

total volume of water in the glass 800 (——
otal time until the glass is empty

D. number of milliliters drunk from the glass 00 fkr———
per second. '

VO»\M4OO —

(JmD 200- — P







